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At 25°C the rate consmnt for the first-order. decomposmon of a pesucnie solutxon is PR
6.40 x 10-3 min~}: If the starting concentration of pesticide is 0.0314 M, what concentration will remain
after 62.0 min at 25°C? \ :
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*For the overall chemical reacnonshnwn below, which one of the following statements can you rightly
assume"
2H2S(g) + O2(g) 28(8) +2H20()

A. The rcactlon is third-order overall. . B - The reaction is second-order-overall..
C The rate law is, rate = k[H>S]2 [02] .~ D. The rate law is, rate = k[HS] [02]
he rate law cannot be determined from the mformatlon given.
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The units for a first-order rate constant are o
A Mhs B.1Mes  [C. TR\ D. M2%

The reaction A + 2B —> products was found to followthe rate law: rate = k[A]2[B] Predlct by what factor the
- rate of reaction will increase when the concentration of A is doubled and the concentration of B is tripled, and »

-the temperature remains cgn
A5 - B.6 |

D. 18 E. None:of the above.
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